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PHYSIOLOGY

[PROGRAMME]
Course Code : PHYSIOL-G-CC-T-4

Full Marks : 40 Time : 2% Hours

The figures in the right-hand margin indicate marks.

Candidates are required to give their answers in

their own words as far as practicable.

GROUP-A
1. Answer any five questions: 2x5=10
@~ Ao Aesw Tew wie ¢
a)  What is T-tubule?
T-wiferel f5 2
b)  What do you mean by H band?
H-TS <10 6 @i
c)  What is motor end plate?
o7 @@ (25 2
d)  What is EPSP?
EPSP f&?
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e) What is saltatory conduction?
e i e
f)  What is cross bridge?
@ f9e I e 2
g)  What is synaptic gutter?
Aze191B oI5 FE e 2
h)  Give example of two chemoreceptors.

wis AR Sefe oz s @19 |

GROUP-B

2. Answer any two questions: 5x2=10

@-(FIel 9o o Tex wie ¢

a) Describe the electrical properties of cardiac

muscle. 5
FEANT Qe wsfefer aofa e

b) Classify synapses. Give two examples of

inhibitory and excitatory neurotransmitters.

3+2=5
e edtee s b F@ Trsiead ¢
Afscaiedl (s miceda Snigel wie |
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c) State the difference between skeletal muscle and c)
cardiac muscle. 5
SRR @ TR Sy Al @14 |

d) Briefly describe any two properties of skeletal

muscle. 5

SRR (@~ gf5 &5 AT el el | O

GROUP-C
3. Answer any one question: 10x1=10

@@ @B AT Ted wie ¢

a) Describe the structure of neuromuscular

junction with a proper labelled diagram
6+4=10
I IR TN S0 ibg 3ol e |

b)  What do you mean by Excitation-Contraction
coupling? Describe the process of contraction

and relaxation of cardiac muscle fibre.
3+7=10

Tioiel € B AT FIE A 2 oA
FRCFIo @ ePTRel oimfe Jefell 41 |

Describe the different phases of action potential
in nerve fibre with proper diagram. What do
you mean by depolarization and repolarisation

of a neurone? 7+3=10

Action potential-< fafen miafe og 712 3 4|
FIYS S @ 21 S T < (I 2

Explain with a suitable diagram the process of

synaptic transmission. 10

fofere focam wpTiafa St @ siafors Swisii gqifze
=3 O SIS 9 |
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